# A NOTE OF THE MODIFIED BERNOULLI POLYNOMIALS AND IT'S THE LOCATION OF THE ROOTS ${ }^{\dagger}$ 

H.Y. LEE


#### Abstract

This type of polynomial is a generating function that substitutes $e^{\lambda t}$ for $e^{t}$ in the denominator of the generating function for the Bernoulli polynomial, but polynomials by using this generating function has interesting properties involving the location of the roots. We define these generation functions and observe the properties of the generation functions.


AMS Mathematics Subject Classification : 11B68, 11S80.
Key words and phrases : Bernoulli numbers and polynomials, Zeta function, scattering of root.

## 1. Introduction

Bernoulli numbers were discovered by Jakob Bernoulli in the 17th century. As it is well known, Bernoulli numbers are related to many important properties appearing in mathematics and physics. Thereby many mathematicians have studied the Bernoulli numbers and polynomials, Euler numbers and polynomials, Genocchi numbers and polynomials, and tangent numbers and polynomials(see [1-12]).

In this paper, we are going to talk about the Bernoulli polynomials with an some modified generation function. This type of polynomial is a generating function that substitutes $e^{\lambda}$ for $e^{t}$ in the denominator of the Bernoulli polynomial generation function, but polynomials using by this generating function has interesting properties involving the location of the roots. We define these generation functions and observe the properties of the generation functions. Also, we compare the structure of the roots of the modified Bernoulli polynomials defined here with the classical Bernoulli polynomials.

Throughout this paper, we will use the following notations: $\mathbb{N}$ denotes the set of natural numbers, $\mathbb{Z}$ denotes the ring of rational integers, $\mathbb{Q}$ denotes the field

[^0]of rational numbers, $\mathbb{C}$ denotes the set of complex numbers, $\mathbb{Z}_{0}^{+}=\mathbb{N} \cup\{0\}$ and $\mathbb{Z}_{0}^{-}=\{0,-1,-2, \cdots\}$.

As a well known definition, the Bernoulli polynomials $B_{n}(x)$ is defined by the following generating function(see $3,4,7,9,11$ ):

$$
\frac{t e^{x t}}{e^{t}-1}=\sum_{n=0}^{\infty} B_{n}(x) \frac{t^{n}}{n!}, \quad(|t|<2 \pi)
$$

If $x=0, B_{n}=B_{n}(0)$ is called the Bernoulli numbers.
We plot the zeros of the Bernoulli polynomials $B_{n}(x)$ (Figure 1).


Figure 1. Plot the zeros of the Bernoulli polynomials

In Figure 1(left), plot the zeros of the Bernoulli polynomials for $n=50$ and $x \in \mathbb{C}$. In Figure 1(right), plot of real zeros of the Bernoulli polynomials for $1 \leq n \leq 50$ structure are presented

We observe that $B_{n}(x), x \in \mathbb{C}$, has $\operatorname{Re}(x)=1 / 2$ reflection symmetry in addition to the usual $\operatorname{Im}(x)=0$ reflection symmetry analytic complex functions. The obvious corollary is that the zeros of $B_{n}(x)$ will also inherit these symmetries.

$$
\text { If } B_{n}\left(x_{0}\right)=0, \text { then } B_{n}\left(1-x_{0}\right)=0=B_{n}\left(x_{0}^{*}\right)=B_{n}\left(1-x_{0}^{*}\right)
$$

Here, $*$ denotes complex conjugation. Prove that $B_{n}(x)=0$ has $n$ distinct solutions.

## 2. Definition for the modified Bernoulli numbers and polynomials and its basic properties

Definition 2.1. For $\lambda \neq 0$, the modified Bernoulli polynomials $B_{n, \lambda}(x)$ are defined by means of the generaing function:

$$
\begin{equation*}
\frac{t}{e^{\lambda t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n!}, \quad\left(|t|<\frac{2 \pi}{|\lambda|}\right) . \tag{2.1}
\end{equation*}
$$

If $x=0$, then $B_{n, \lambda}(0)=B_{n, \lambda}$ and we call it a modified Bernoulli numbers and as $\lambda \rightarrow 1, B_{n, \lambda}(x)=B_{n}(x)$.

From (2.1), we get the following form.

$$
\begin{equation*}
t e^{x t}=e^{\left(\lambda+B_{\lambda}(x)\right)}-e^{B_{\lambda} t} \tag{2.2}
\end{equation*}
$$

The left side and right side of Equation (2.2) are changed by the Taylor series as follows.

The left side is $\sum_{n=0}^{\infty} n x^{n-1} \frac{t^{n}}{n!}$.
The right side is $\sum_{n=1}^{\infty}\left(\left(\lambda+B_{\lambda}(x)\right)^{n}-B_{n, \lambda}(x)\right) \frac{t^{n}}{n!}$.
The following theorem is obtained by comparing the coefficients of $\frac{t^{n}}{n!}$ on the left and right sides.

Theorem 2.2. For the nonnegative integer $n$ and $\lambda \in \mathbb{C}$,

$$
\begin{aligned}
n x^{n-1} & =\left(\lambda+B_{\lambda}(x)\right)^{n}-B_{n, \lambda}(x) \\
& =\sum_{l=0}^{n-1}\binom{n}{l} \lambda^{n-l} B_{l, \lambda}(x)
\end{aligned}
$$

In paticula, if $x=1$, then

$$
\begin{aligned}
n & =\left(\lambda+B_{\lambda}(1)\right)^{n}-B_{n, \lambda}(1) \\
& =\sum_{l=0}^{n-1}\binom{n}{l} \lambda^{n-l} B_{l, \lambda}(1) .
\end{aligned}
$$

If $x=0$, then

$$
\sum_{l=0}^{n-1}\binom{n}{l} \lambda^{n-l} B_{l, \lambda}= \begin{cases}1 & \text { if } n=1 \\ 0 & \text { if } n>1\end{cases}
$$

Theorem 2.3. For nonnegative integer $n$ and $\lambda \in \mathbb{C}$, we get

$$
\frac{B_{n, \lambda}(m \lambda+\lambda)-B_{n, \lambda}(\lambda)}{n}=m^{n-1} .
$$

Proof. From Definition 2.1, we get the following:

$$
\begin{align*}
& \sum_{n=0}^{\infty}\left(B_{n, \lambda}(m+\lambda)-B_{n, \lambda}(\lambda)\right) \frac{t^{n}}{n!} \\
& =t e^{m t}  \tag{2.3}\\
& =\sum_{n=0}^{\infty} n m^{n-1} \frac{t^{n}}{n!}
\end{align*}
$$

Comparing the coefficient of $\frac{t^{n}}{n!}$ on both sides of (2.3), we obtain as below:

$$
\begin{equation*}
B_{n, \lambda}(m+\lambda)-B_{n, \lambda}(\lambda)=n m^{n-1} \tag{2.4}
\end{equation*}
$$

From (2.4), we get the theorem.
Also, if $m=1$, then we get

$$
B_{n, 1}(1+\lambda)-B_{n, 1}(\lambda)=n
$$

In equation (2.4), replace $-m$ by $\lambda$. Then, we get a equation as belows:

$$
\begin{equation*}
B_{n,-m}-B_{n,-m}(-m)=(-1)^{n-1} n m^{n-1} \tag{2.5}
\end{equation*}
$$

In equation (2.5), replace $-m$ by $m$. Then, we get an another equation as belows:

$$
\begin{equation*}
B_{n, m}-B_{n, m}(m)=n m^{n-1} \tag{2.6}
\end{equation*}
$$

From equations (2.5) and (2.6), we get a following corollary.
Corollary 2.4. For the non-negative integer $n$
if $n$ is even, then, we get

$$
B_{n,-m}+B_{n, m}=B_{n,-m}(-m)+B_{n,-m}(m)
$$

and
if $n$ is odd, then, we get

$$
B_{n,-m}+B_{n, m}(m)=B_{n, m}+B_{n,-m}(-m)
$$

Let $F(x, \lambda, t)=\frac{t}{e^{\lambda t}-1} e^{x t}=\sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n!}$. Then

$$
\begin{align*}
F(\lambda-x, \lambda,-t) & =\frac{-t}{e^{-\lambda t}-1} e^{-(\lambda-x) t} \\
& =\frac{t}{e^{\lambda t}-1} e^{x t}  \tag{2.7}\\
& =F(x, \lambda, t)
\end{align*}
$$

and

$$
\begin{equation*}
F(\lambda-x, \lambda,-t)=\sum_{n=0}^{\infty}(-1)^{n} B_{n, \lambda}(\lambda-x) \frac{t^{n}}{n!} \tag{2.8}
\end{equation*}
$$

From (2.7) and (2.8), we get the following property.

Theorem 2.5. For $n \equiv 2$ (mod 2) and $\lambda \in \mathbb{C}$

$$
B_{n, \lambda}(x)=B_{n, \lambda}(\lambda-x) .
$$

It means that the polynomials $B_{n, \lambda}(x)$ is symmetric about $x=\frac{\lambda}{2}$.
By the Definition 2.1

$$
\begin{aligned}
\sum_{b=0}^{p-1}\left(\sum_{n=0}^{\infty} B_{n, \lambda}\left(\alpha+\frac{b}{p} \lambda\right) \frac{t^{n}}{n!}\right) & =\sum_{b=0}^{p-1} \frac{t}{e^{\lambda t}-1} e^{\left(\alpha+\frac{b}{p} \lambda\right) t} \\
& =\frac{t}{e^{\frac{\lambda}{p} t}-1} e^{\alpha t} \\
& =p \sum_{n=0}^{\infty} B_{n, \lambda}(p \alpha) \frac{1}{p^{n}} \frac{t^{n}}{n!} .
\end{aligned}
$$

Hence, we get the following property.
Theorem 2.6. For non-negative integer $n$ and $\lambda \in \mathbb{C}$,

$$
B_{n, \lambda}(p \alpha)=p^{n-1} \sum_{b=0}^{p-1} B_{n, \lambda}\left(\alpha+\frac{b}{p} \lambda\right) .
$$

We consider the patial derivation for $x$ at $\sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n!}=\frac{t}{e^{e^{t}-1}} e^{x t}$.

$$
\begin{align*}
\frac{\partial}{\partial x} \sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n!} & =\frac{\partial}{\partial x} \frac{t}{e^{\lambda t}-1} e^{x t} \\
& =t \sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n!}  \tag{2.9}\\
& =\sum_{n=0}^{\infty} n B_{n-1, \lambda}(x) \frac{t^{n}}{n!}
\end{align*}
$$

Therefore we get as below property.
Theorem 2.7. For non-negative integer $n$ and $\lambda \in \mathbb{C}$,

$$
\frac{\partial}{\partial x} B_{n, \lambda}(x)=n B_{n-1, \lambda}(x) .
$$

Corollary 2.8. For non-negative integer $n$ and $\lambda \in \mathbb{C}$,

$$
\frac{\partial^{n}}{\partial x^{n}} B_{n, \lambda}(x)=\frac{n!}{\lambda}
$$

From Definition 2.1 and Cauchy product, we get

$$
\begin{equation*}
\sum_{n=0}^{\infty} B_{n, \lambda}(x) \frac{t^{n}}{n!}=\frac{t}{e^{\lambda t}-1} e^{x t}=\sum_{n=0}^{\infty}\left(\sum_{l=0}^{n}\binom{n}{l} B_{l, \lambda} x^{n-l}\right) \frac{t^{n}}{n!} \tag{2.10}
\end{equation*}
$$

Comparing both sides of (2.10) with respect to $\frac{t^{n}}{n!}$, we have the following:

$$
B_{n, \lambda}(x)=\sum_{l=0}^{n}\binom{n}{l} B_{l, \lambda} x^{n-l}=\left(B_{\lambda}+x\right)^{n}
$$

From $F(x, \lambda, t)=\frac{t}{e^{\lambda t}-1} e^{x t}$, differential operator $D$ and identity differential operator $I$,

$$
\left.\begin{array}{l}
e^{\lambda t} F(x, \lambda, t)-F(x, \lambda, t)=t e^{x t} \\
\Leftrightarrow D^{k}\left(e^{\lambda t} F(x, \lambda, t)-F(x, \lambda, t)\right)=D^{k}\left(t e^{x t}\right) \\
\Leftrightarrow D^{k-1}\left(e^{\lambda t}(D+\lambda I) F(x, \lambda, t)-D^{k} F(x, \lambda, t)=\left(k x^{k-1}+x^{k} t\right) e^{x t}\right. \\
\vdots \\
\Leftrightarrow(D+\lambda I)^{k} F(x, \lambda, t)-e^{-\lambda t} D^{k} F(x, \lambda, t)=e^{-\lambda t}\left(k x^{k-1}+x^{k} t\right) e^{x t} \\
\Leftrightarrow D^{m}(D+\lambda I)^{k} F(x, \lambda, t)-e^{-\lambda t}(D-\lambda I)^{m} D^{k} F(x, \lambda, t) \\
=[(k+x t)(x-\lambda)+m] x^{k-1} e^{(x-\lambda) t}(x-\lambda)^{m-1} \\
\Leftrightarrow e^{\lambda t} D^{m}(D+\lambda I)^{k} F(x, \lambda, t)-(D-\lambda I)^{m} D^{k} F(x, \lambda, t) \\
=[(k+x t)(x-\lambda)+m] x^{k-1} e^{(x-\lambda) t}(x-\lambda)^{m-1} e^{\lambda t} \\
\Leftrightarrow
\end{array} \sum_{l=0}^{k}\binom{k}{l} e^{\lambda t} \lambda^{k-l} D^{m+l} F(x, \lambda, t)-\sum_{l=0}^{m}\binom{m}{l}(-\lambda)^{m-l} D^{k+l} F(x, \lambda, t)\right)
$$

Since $\left.D^{k+l} F(x, \lambda, t)\right|_{t=0}=B_{k+l, \lambda}(x)$ and $\left.e^{\lambda t} D^{m+l} F(x, \lambda, t)\right|_{t=0}=B_{m+l, \lambda}(x)$, we get the following Proposition.

Theorem 2.9. For non-negative integer $n$ and $\lambda \in \mathbb{C}$,

$$
\begin{aligned}
& \sum_{l=0}^{\max \{k, m\}}\left[\binom{k}{l} \lambda^{k-l} B_{m+l, \lambda}(x)-(-\lambda)^{m-l}\binom{m}{l} B_{l+k, \lambda}(x)\right] \\
& =\{(k+x t)(x-\lambda)+m\} x^{k-1}(x-\lambda)^{m-1} .
\end{aligned}
$$

## 3. Distribution of zeros of the modified Bernoulli polynomials

This section aims to demonstrate the benefit of using numerical investigation to support theoretical prediction and to discover new interesting pattern of the zeros of the modified Bernoulli polynomials $B_{n, \lambda}(x)$. We investigate the zeros of the $B_{n, \lambda}(x)$ by using a computer. We plot the zeros of the modified Bernoulli polynomials $B_{n, \lambda}(x)$ for $n=50, \lambda=1,3,5,7$ and $x \in \mathbb{C}$ (Figure 2).


Figure 2. Zeros of $B_{n, \lambda}(x)$
In Figure 2(top-left), we choose $n=50, \lambda=2$. In Figure 2(top-right), we choose $n=50, \lambda=3$. In Figure 2 (bottom-left), we choose $n=50, \lambda=4$. In Figure 2(bottom-right), we choose $n=50, \lambda=5$.

Stacks of zeros of $B_{n, \lambda}(x, \lambda)$ for $1 \leq n \leq 50$ from a 3 -D structure are presented(Figure 3).


Figure 3. Stacks of zeros of $B_{n}(x, \lambda)$ for $1 \leq n \leq 50$

In Figure 3(left), we choose $1 \leq n \leq 50$ and $\lambda=2$. In Figure 3(right), we choose $1 \leq n \leq 50$ and $\lambda=5$. Our numerical results for approximate solutions of real zeros of $B_{n}(x, \lambda)$ are displayed(Tables 1, 2).

Table 1. Numbers of real and complex zeros of $B_{n}(x, \lambda)$

| degree $n$ | $\lambda=2$ |  | $\lambda=5$ |  |
| :---: | :---: | :---: | :---: | ---: |
|  | real zeros | complex zeros | real zeros | complex zeros |
| 1 | 1 | 0 | 1 | 0 |
| 2 | 2 | 0 | 2 | 0 |
| 3 | 3 | 0 | 3 | 0 |
| 4 | 4 | 0 | 4 | 0 |
| 5 | 5 | 0 | 5 | 0 |
| 6 | 2 | 4 | 2 | 4 |
| 7 | 3 | 4 | 3 | 4 |
| 8 | 4 | 4 | 4 | 4 |
| 9 | 5 | 4 | 5 | 4 |
| 10 | 6 | 4 | 6 | 4 |
| 11 | 7 | 4 | 7 | 4 |
| 12 | 4 | 8 | 4 | 8 |
| 13 | 5 | 8 | 5 | 8 |
| 14 | 6 | 8 | 6 | 8 |
| 15 | 7 | 8 | 7 | 8 |
| 16 | 8 | 8 | 8 | 8 |
| 17 | 5 | 12 | 5 | 12 |

For $\lambda=2,5$, plot of real zeros of $B_{n}(x, \lambda)$ for $1 \leq n \leq 50$ structure are presented(Figure 4).

In Figure 4 (left), we choose $1 \leq n \leq 50$ and $\lambda=2$. In Figure 4(right), we choose $1 \leq n \leq 50$ and $\lambda=5$.


Figure 4. Real zeros of $B_{n}(x, \lambda)$ for $1 \leq n \leq 50$

We observe a remarkably regular structure of the complex roots of the modified Bernoulli polynomials $B_{n, \lambda}(x)$ (see Table1). Next, we calculated an approximate solution satisfying $B_{n}(x, \lambda)=0$ for $\lambda=2, x \in \mathbb{C}$. The results are given in Table 2.

Table 2. Approximate solutions of $B_{n}(x, \lambda)=0, x \in \mathbb{R}$


## References

1. T.M. Apostal, On the Lerch Zeta function, Pacific J. Math. 1 (1951), 161-167.
2. L. Carlitz, q-Bernoulli numbers and polynomials, Duke Mathematical Journal 15 (1948), 987-1000.
3. J. Choi, P.J. Anderson, H.M. srivastava, Some $q$-extensions of the Apostol-Bernoulli and the Apostol-Euler polynomials of order n, and the multiple Hurwitz zeta function, Appl. Math. Comput. 199 (2007), 723-737.
4. J.E. Choi and A.H. Kim, Some properties of twisted $q$-Bernoulli numbers and polynomials of the second kind, J. Appl. \& Pure Math. 2 (2020), 89-97.
5. H.Y. Lee, J.S. Jung, C.S. Ryoo, A numerical investigation of the roots of the second kind $\lambda$-Bernoulli polynomials, Neural Parallel and Scientific Computaions 19 (2011).
6. A.H. Kim, Multiplication formula and $(\lambda, q)$-alternating series of $(\lambda, q)$-Genocchi polynomials of the second kind, J. Appl. \& Pure Math. 1 (2019), 167-179.
7. Dae San Kim, Taekyun Kim, Dmitry V. Dolgy, Some Identities on Laguerre Polynomials in Connection with Bernoulli and Euler Numbers, Discrete Dynamics in Nature and Society 2012 (2012), 10 pages, Article ID 619197.
8. B.A. Kupershmidt, Reflection symmetries of $q$-Bernoulli polynomials, J. Nonlinear Math. Phys 12 (2005), 412-422.
9. C.S. Ryoo, On Appell-type degenerate twisted $(h, q)$-tangent numbers and polynomials, J. Appl. \& Pure Math. 1 (2019), 69-77.
10. C.S. Ryoo, Distribution of the roots of the second kind Bernoulli polynomials, J. Comput. Anal. Appl. 13 (2011), 971-976.
11. Y. Simsek, Theorem on twisted L-function and twisted Bernoulli numbers, Advan. Stud. Contemp. Math. 12 (2016), 237-246.
12. Y. Simsek, Generating functions of the twisted Bernoulli numbers and polynomials associated with their interpolation functions, Advan. Stud. Contemp. Math. 16 (2008), 251-278.

Hui Young Lee received M.Sc. and Ph.D. from Hannam University. Since 2015 he has been at Hannam University. His research interests include the Bernoulli numbers and polynomials with generating function.
Department of Mathematics, Hannam University, Daejeon 34430, Korea.
e-mail: hylee@hnu.kr


[^0]:    Received January 31, 2020. Revised February 24, 2020. Accepted March 5, 2020.
    ${ }^{\dagger}$ This work was supported by 2019 Hannam University Research Fund.
    (C) 2020 KSCAM .

